BMP %[0 B il 3R 4k % JE 53X BMP Orbit Hydraulic Motor With Spool Valve THOTH ©

58

il
98

B 7= % #5iA INTRODUCTION

ARIGER—H/NMER, KFDMERREDE, RABGXBREFH, FHRE. E28. WEEEKX,
This series of motor are small volume,economical type,which is designed with Spool Valve,which adapt the gerotor gear set design and provide
compact volume,high power and low weight.

B 48845 S CHARACTERISTICS

1 BEXBEFARALEHRMNIFE, BERENERN, ET. WEX, FHK
2 WMFEERIES, WA, FBRER,
GHNZITES, WEFEKX,
1 Advanced manufacturing devices for the Gerotor gear set, which provide small volume, high efficiency and long life.
2 Shaft seal can bear high pressure of motor of which can be used in parallel or in series.
3 Advanced construction design,high power and low weight.

B BMP K $%f TECHNICAL DATA

'%YF-’?E BMP-50 | BMP-80 | BMP-100 m BMP-160 | BMP-200 | BMP-250 m BMP-400

#H =
Displacement(ml/r) 120.9 158.7 196.4 241.8 317.3 392.9
o L t. 14 14 14 14 14 14 11 9 7
kR 4 con
Max.Pressure.Drop
[BJH int. 17.5 17.5 17.5 17.5 17.5 17.5 14 11 9
(Mpa)
RUE peak. 20 20 20 20 20 20 16 18 11
TG t. 89 150 191 235 307 365 378 378 378
BAHsE H£E con
Max.torque
(N.m) [B]H int. 110 185 231 292 376 440 465 465 465
R peak. 130 215 268 336 430 506 537 537 537
HIRSEE (EL)

Speed.Range(cont.)(/min) 10-800 10-770 9-615 9-480 8-385 7-310 5-250 5-195 5-1565

RARE (EE)

Max.Flow(cont.)(L/min) 40 60 60 60 60 60 60 60 60
RABHINE (&4)

Max.Output.Power(cont.)(Kw) U 10 10 10 10 8 6 5 4
EE

Weight (kg) 5.6 57 59 6.0 6.2 6.4 6.6 6.9 7.4

B TIER BB Sh RGBT 67, RiIET(EREESSHhRGBE0.68),
Intermittent operation the permissible values may occur for max. 10% of every minute
Peak load: the permissible values may occur for max. 1% of every minute

B % B2 F 525 PERMISSIBLE SHAFT LOADS

Pzmn(N) 2FLER
9000 Pam —
8000 \ J,

6000 2402"‘
P
4000 5““_» o
2000N o
2000
30 | |
0 200 400 600 800  #iEn(r/min)

Z° FHEEREDIEERAT | g

ZiHYD  NINGBO ZHONGY! HYDRAULIC MOTOR CO..LTD.



BMP % [a] Bt il 122k & [ED3iEX  BMP Orbit Hydraulic Motor With Spool Valve THOTH i = 2 BMP %[5 gl 324 % EDiE  BMP Orbit Hydraulic Motor With Spool Valve THOTH = = 3

B BMP 4% % E Installation B BMP SMEZE#: R~ -Hi it SHAFT VERSION
. fii AT &%= Match with ATl flange
Al 8 27 ZE/HiE5= All Version 2-hole oval flange
P1: ©25F#H, FH#EX7X32 P3: ©25.4F 44, F#6.35X6.35X32
8 16 7L 2- 0135 ® 25 Cylindrical shaft, parallel key 8X7X32 ®25.4 Cylindrical shaft, parallel key 6.35X6.35X32
4-M8 T
#®10 P
R 711 43 A-A 43 A-A
20 5 32 8-0.036 5_ 32 6.35-0.03
IA >300 IA >300
- o 7 9 7
\ 2 Ry g g
B P T 19 S Q| o ] 9 '
~ N 4 — > 2 =] 3 & < | 2| My Py N wosm
- w Kﬁ ! X ~ B h § / N (L{‘) / g
== ® o - o o
S ¢ N = S P 20 20
ol A © o ® 8 IA IA
= AN ARWN 5 A <— 54 54
A YA —
f} fit C, C1 Bk = Match with C,C1 flange
20,120 B N P1: 0254, FHEX7X32 P3: ©254F 44, F§6.35X6.35X32
SAEE . i 55 ® 25 Cylindrical shaft, parallel key 8X7X32 ®25.4 Cylindrical shaft, parallel key 6.35X6.35X32
L 100 43 AA 40 AA
5, 32 8-0.036 5_ 32 6.35-0.03
1A >300 IA e
a2z . 3 7 ~ v, § / N 7
C, C18! %= C,C1 Version Square flange S I © S e © S LN
2= I l_/ N I < | = 1 % Q i
P(A.B) 4-M8 T g © o & © N
R15 20 20 w12 w11 ©82.5:0.1 REILE 20 © 20
: A A
] 48 45
P B
yanY | __m \j;.--.;qi
= hev w Yl 4-- BiERER
54 ~|© o N
%) AY ~ D <]
: ’ . . 5 3
¢ o{1)o . MW BMP %7 Y ORDERING CODE
1 2 3 4 5
25 20 | 20
44 36 B 55 BMP | - /
REE L1 %
1 HEE Displacement 4 #0 Ports
5= Flange ZEFLE 50, 80, 100, 125, 160, 200, 250, 315, 400 #HiHmAP(A,B) hmOT
c 4-M10 Y G1/2 M14X1.5
C1 4—%-16UNC \% M18X1.5 M14X1.5
2 #& Wk Shaft Y2 M22X1.5 M14X1.5
Y5 7/8-14UNF M14X1.5
P1 O25 4, FHBX7X32 ;
Y8 NPT 1/2 M14X1.5
B8 ©25.4F 44, F#£6.35X6.35X32

A =2

'I:'.ZYP-IZ BMP-50 BMP-80 BMP-100 m BMP-160 BMP-200 BMP-250 m BMP-400
L 141 145 147 150 155 160 166 176 186 3 LodEsk 2 | = 5 pre— =
L1 147 151 153 156 161 166 172 182 192 £S5 g 9 = P

B 7 1 13 16 21 26 32 42 52 All 2-013.5%Fi%=, IEO®825 HEE hE=]
C 4-M10A %=, IEO0®44.45 T 170 Bt 354 R
P(AB)-—# MO, #TESTRSHM; Tl 0, NS S A, \ oLl L)
C1 4-3/8-16UNCH =, 1EOD®44.45
| BE FHAEREDAERALD Z° THREEREDEABRAT | o

ZiHYD  NINGBO ZHONGY! HYDRAULIC MOTOR CO.LTD. ziHYD  NINGBO ZHONGY! HYDRAULIC MOTOR CO..LTD.



